Mate in two moves

The aim of this lesson is to improve your calculation
of short variations. It is more important to find a lot
of options in the first few moves than to calculate
long variations. Most mistakes occur in the early
moves in variations. What is the use of calculating
a long and correct variation if your opponent has a
much better reply on move one?

You must develop your skill at calculating
short variations, while at the same time taking
into account the possibilities available to your

opponent. This skill should reduce blunders.

Exercises with mate in two moves are very well suited
for training in the art of calculating short variations
with great accuracy.

Before reading the accompanying text, try to find
the correct solution in all the examples! Note down all
the variations you have calculated for each position,
and then compare your variations with those given
in the text.

Diagram 9-1

1859

1.%a50 £d7

1..8e6 2.We5#; 1..815 2.5xf5#; 1...2b7 2.9)f5#;
1..2e7 2.We5#; 1..8d6 2.Wd5#; 1..8c5 2.Wal#
1..8g7 2.¥xb4#; 1..8h6 2.¥xbd#; 1..8d7 2.0)f5#;
1..2d6 2. ¥xb4#; 1..8d5 2.¥xd5#; 1...He7 2. Wxb4#;
1...8e6 2.9f5#; 1...He5 2. Wxe5#.
2. W ds5#

Positions with few pieces are basically simpler, but
it often happens that, even after thinking for a long
time, one does not see the solution. When that
happens, you have to check out every possible
move.
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Diagram 9-2
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The other three variations are as follows: 1...¢2h~
That means: 1...%2h5 2.8f5#, 1..&h3 2.2f5# or
moves to warm up with. To find the solutions here,

Here are another six positions with mate in two
you need a little imagination (or a lot of patience
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Diagram 9-3
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Diagram 9-3
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1.2~ 2.Wg3#; 1..e1W 2.8f3# 1..e18 2.Ef3#
1..e1£ 2.8f3#; 1...e19 2.8d2#.

2.Wg34

1.8d3! el

f g h

a b ¢ d e

Diagram 9-4

Diagram 9-4

1.2a8! hxad

1..B~ 2.5bb7#

2.b6#
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Calculating Variations 1

then 2.Wh7#,
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If 1...2b2 (or Dcl, el
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1.¥b1! Df4 (or De5, c5, b4, £2)
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Diagram 9-6

Diagram 9-6

2.We2#; 1..5eg6 2.Wg8#,

1881

)

1..82g6 (or &f7, €8
1...5og4 2. Wg2#.

1.%a2! g4 (or &f3, €2, d1)
2.@g8#
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Diagram 9-7

Diagram 9-7
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1...bxa3 2.¥xb5#; 1...bxad 2.Wd3#.

2.0 c5#

1.%a6! shxa3
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Diagram 9-8

Check out all your opponents replies with great
care! In your solution you must have calculated

and written down all possible replies for your

There is only one single way to achieve mate in
opponent.

1..0d4 2. Wel#; 1.0~ 2. Wa4#,
tWO moves.

2.¥d8#
In all the positions in the test, you have to find mate

1.2b2 Db4
in two moves.
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Exercises

*
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»Ex. 9-4 <«

»Ex. 9-1<¢
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_Exercises

*
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» Ex. 9-7«
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» Ex. 9-11«
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» Ex. 9-12 «

*

» Ex. 9-9¢
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Solutions

1.Mag! 892
1.8~ 2.h8%# or 1...¢bh2 2.h8W#.
2.@’xg2#
(1 point)

1.8e7! 24
1...50d4 2. We4#
2. Weq#

1.82a3! 2
1..B~2.5\e2#
2.8c5#

1.8a41! 2d3
1...%%el 2.We2#
2.8b5#

1.Bd6! (ABe6#) 1...0xa7

1..2b6  2.Wxe7#; 1..0xd6 2.Wxe7#
1..%xd6 2.Wb8#; 1..8xd6 2.Wg7#; 1.8~
2.8e6#; 1...c4 2.8e6#; 1...d4 2.Wxc5#.
2. 2e6#
(1 point)

1.8g4! b4
1..Wd5 2.8g8#; 1..Wc5 2.Dxc5#; 1. M5
2. Bg8#; l...@gS 2.@xg5#; 1...%hs 2.@g5#;
1. Wxd6 2.Dxd6#; 1...Wxf6 2.Dxf6#; 1... W4
2.Hg8#; 1..Wg3 2.@xg3#; 1..Wh2t 2.2024#;
1. Wxedt 2.8xed#; 1..Wd4 2.8g8#; 1..Wc3
2.0xc3#; 1. Wb2t 2.90d2#; 1...Wal 2.8g8#.
2.Hg8#
(1 point)

1923

1.2d7! oxc6

1..0c8 2.cxd8W#; 1.%xa7 2.c80)#:
1..8Bc8 2.cxd8D#; 1..0xc6 2.cxb8W#;
1...2e6 2.c8M#. After any move by the knight
on f7 then 2.c8%#.
2.cxb8D#

1929
1.8e4! De7

1..2d6 2.8245#; 1..6b6 2.865#; 1..5a7
2.8f5#.
2.Bf6#

(1 point)

1.2c70 g4 (or &3, €2, dl, e8)

1..2g6 2.Mfo#; 1.8f7 2.¥d6#; 1..Hg6
2.We8#; 1...86 (or Eh7, h8) 2.W(x)f6#.
2. We8#

(1 point)



Solutions

Ex. 9-10 Ex. 9-12 |
‘W.Speckmann N.Kosolapov -
1963
1.¥o8! &f5 1.%h3 xc6
1..xh5 2.Wxg5#; 1.8~ 2.0f6# 1..g2 1..2a4 2.Wb3#; 1..%0a6 2.Wd3#; 1..cbc4
2.Wrxg54. 2.Wb3#.
2.Bxg5# 2.W¥d7#
(1 point) (1 point)
Ex. 9-11
1885
1.Wa80 Bg7
1..2~6 2.We8#; 1..8g8 2.Wixe8#; 1..%0g7
2.@’g8#.
2.¥h1#
(1 point)
Scoring

If you scored less than 6 points, we recommend that you read the
chapter again and repeat the exercises which you got wrong.
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